
2x6 @ 16" BEARING WALL

7/16" OSB, SEE GENERAL
NOTES -TYP

SEE ARCH FOR FINISHES -TYP

TOP CHORD BEARING JOIST @ 16" O.C.
OVER TRIPLE LVL SUPPORT BEAM - TYP

1X DIAGONAL WOOD FLOOR
PLANKING @ THIRD FLOOR

SLAB POUR - SEE PLAN.

2x6 @ 16" BEARING WALL
-SEE PLAN

1X DIAGONAL BOARD
SHEATHING @ THIRD
FLOOR -- TYP

RIGID INSULATION - TYP.
(SEE ARCH)

SEE ARCH FOR FINISHES -TYP

EXTERIOR STUD WALL
CONTINUING BEYOND

REF. ELEV.=121'-6" 

24" P.E. FLOOR TRUSSES @ 16" OC W/

BEARING SEAT FOR 7 1/4" LVL

LSL RIM JOIST RIPPED TO
HEIGHT - TYP

2X6 DOUBLE TOP
PLATE - TYP

TRIPLE 7 1/4"LVL BEAM SET
@ TOP CHORD BEARING
JOISTS

S2.2
L

3/4"=1'-0SECTION

10 3/4" TALL BEARING SEAT

2x6 @ 16"
BEARING WALL

1X DIAGONAL BOARD
SHEATHING @ THIRD
FLOOR -- TYP

RIGID INSULATION
- TYP. (SEE ARCH)

SEE ARCH FOR
FINISHES
 -TYP

2x6 @ 16" BEARING
WALL

DOUBLE 2x4 INTERIOR BEARING
WALL W/ 2x4 SILL PLATE -TYP
(SEE PLAN FOR SPACING)

24" LSL RIM - TYP UNO

24" P.E. FLOOR TRUSSES
@ 16" OC -TYP UNO

3/ 4" T&G - SEE GENERAL
NOTES - TYP

1"

2X6 BLOCKING TYP.

5/8" GYP BOARD - FULL
HEIGHT DECK TO DECK W/
BLOCKED PANEL EDGES.
FASTENER @ 4" MAX SPACING
@ EDGES & 7" MAX SPACING
@ INFIELD STUDS - TYP AT
ALL DEMISING & AREA
SEPARATION WALLS.

TRIPLE 7 1/4"LVL BEAM
@ BUILD-OUT SUPPORT

3/4" PLYWOOD @ FLOOR DECK

SEAT CUT BUILT UP RIM
BEAM 6 3/4" TALL OVER

7 1/4" LVL SUPPORT BEAM

3/4" ALL-THREAD BOLT
CONNECTION DOUBLE
NUTTED W/ 3" WASHERS @
PLATE ATT - TYP

S2.2

J
3/4"=1'-0SECTION

HALF HEIGHT DECK @ BUILD-OUT
                                  ELEV - SEE ARCH

2X NAILER & FILLER PLATE @
2X DECK ATTACHMENT

DECK - 2X8 @ 16" O.C.

EXTERIOR STUD WALL
BEYOND

SEE ARCH FOR FINISHES -TYP

2X6 @ 16" O.C. WALL

TRIPLE 2X8 BEAM W/ 2X
PLATE @ TOP & DOUBLE
2X PLATE @ BOTTOM

REF. ELEV.
=110'-6"

REF. ELEV.
=121'-6"

1
'-
6
"

1
'-
0
"

1
'-
6
"

REFERENCE
ELEV: 100' 0"

DECK MEMBRANE
PER ARCH.

DECKING PER ARCH.

TAPERED SLEEPERS
@ 12" OC

2x6 @ 16" BEARING WALL

1X6 HOR BOARD
SHEATHING @ THIRD
FLOOR -- TYP

RIGID INSULATION - TYP.
(SEE ARCH)

SEE ARCH FOR FINISHES -TYP

7/16" OSB, SEE
GENERAL NOTES
-TYP

2x6 @ 16" BEARING WALL

2x BLOCKING
BETWEEN TAPPERED
SLEEPERS - LEAVE 2"
MIN SPACE UNDER
BLOCKING

20" TAPERED FLOOR
TRUSSES @ 16" O.C. - SEE
PLAN

S2.2
K

3/4"=1'-0SECTION

2x6 @ 16" BEARING WALL

1/2" OSB, SEE GENERAL
NOTES -TYP

RIGID INSULATION - TYP.
(SEE ARCH)

SEE ARCH FOR FINISHES -TYP

FLASHING PER ARCH

1/2" X 8" GALV WEDGE

ANCHOR @ 32" O.C.

1/2" OSB, SEE GENERAL
NOTES -TYP

1X DIAGONAL WOOD FLOOR
PLANKING @ THIRD FLOOR

1/2" OSB, SEE
GENERAL
NOTES -TYP

LSL RIM JOIST - TYP

REFERENCE
ELEV: 100' 0"

W33X118 BEAM

SECTION 3/4"=1'-0
M

S2.2

3/4" BASEPLATE ON ±1" HIGH
STR. GROUT.

(4) 1" THREADED ANCHOR RODS
W/ 24" MIN EMBEDMENT.

24" Ø COLUMN - SEE SECTION

'E'/S2.1 FOR DETAILS

4
'-
0
" 

M
IN

 -
T

Y
P

SEE ARCH

(4) 3/4"Ø A325

6X6X3/8" HSS STEEL COLUMN W/
3/4" ATTACHMENT PLATES

3/8" FULL HEIGHT
FITTED STIFFENER
PLATE @ COLUMN
LOCATIONS & W8X24
FRAMING TYP

REFERENCE
ELEV: 110' 6"

 5 1/2" M
IN

.

CUT LVL STRINGERS @ 12" TYP.

LSSU125 HANGERS @ LVL
STRINGERS -TYP

3/4" T&G, SEE GENERAL NOTES

2x8 @ 16" -TYP

7 1/4" LVL LEDGER FASTENED W/
(4) 1/4" Ø SDS @ 16"  -TYP @ STAIR
PLATFORMS

(2) 11 7/8" LVL -TYP

LUS28 -TYP @ 2x8

SECTION 3/4"=1'-0
N

S2.2

REF. ELEV.=100'-0" 
REF. ELEV.=100'-9 3/4" 

20" LSL RIM - TYP

BLOCKING BETWEEN
JOISTS - TYP

LSL RIM  TYPICAL

DOUBLE 2X4 BEARING
WALL BETWEEN UNITS

DOUBLE 2X4 BEARING
WALL BETWEEN UNITS

1
'-
8
"

2x6 @ 16" BEARING WALL

1/2" OSB, SEE GENERAL
NOTES -TYP

RIGID INSULATION - TYP.
(SEE ARCH)

SEE ARCH FOR FINISHES -TYP

FLASHING PER ARCH

20" LSL RIM - TYP

SHIM AS NEEDED

SEE ARCH FOR FINISHES -TYP

(5) 16D ATTACHMENT
OF 2X6 TO JOISTS AT TOP
& BOTTOM - TYP

DOUBLE TOP PLATE - TYP

PROVIDE BLOCKING
SUPPORT TO SHEATHING
- BETWEEN JOISTS - TYP

'K' SIMILAR
DETAIL AT HIGH

WALL

BLOCKING AT WALL
SUPPORT

18" P.E. FLOOR TRUSSES
@ 16" OC -TYP UNO

3/ 4" T&G - SEE GENERAL
NOTES - TYP

5 1/2" WIDE BEARING SEAT

L
S2.2

TRIPLE 2X8 HEADER

DOUBLE TOP PLATE AT
ROOF TRUSS BEARING

TAPERED ROOF TRUSSES
- SEE PLAN

SEE ARCH FOR FINISHES
- TYP

1X DIAGONAL BOARD
SHEATHING @ THIRD FLOOR
-- TYP

2x6 @ 16" BEARING WALL
-SEE PLAN

1X DIAGONAL BOARD
SHEATHING @ THIRD
FLOOR -- TYP

RIGID INSULATION - TYP.
(SEE ARCH)

2X8 @ 16" O.C. FRAMING AT
CEILING ATTACHED W/ (3)
SDS @ 16" O.C. CEILING
FINISHES / INSULATION
SUPPORT

SEE ARCH FOR FINISHES -TYP

LSL RIM JOIST - TYP

SINGLE BOTTOM PLATE

2X WALL AT 16" O.C.
- SEE PLAN FOR DETAILS

DOUBLE TOP PLATE - TYP

SET EXTERIOR WALLS IN AT THIRD FLOOR TO
ACCOUNT FOR DIFFERENCE IN THICKNESS OF
DIAGONAL BOARD SHEATHING

SET EXTERIOR WALLS IN AT THIRD FLOOR TO
ACCOUNT FOR DIFFERENCE IN THICKNESS OF
DIAGONAL BOARD SHEATHING

(3) #10 X 8" SCREWS @ 16" O.C.
AT ALL THIRD FLOOR BOTTOM SILL
PLATE CONNECTION - TYP UNO

SECTION 3/4"=1'-0
O

S2.2

W12X26 BEAM AT 18" FLOOR
JOIST SUPPORT

2X PLATE AT BEARING
CONNECTION

FULL HEIGHT BLOCKING
BETWEEN JOISTS - TYP

18" JOIST 18" JOIST
3/4" T&G PLYWOOD - TYP
UNO

18" JOISTS - SEE PLAN

GAP SLEEPERS AS
NEEDED FOR CROSS
DRAINAGE

SET EXTERIOR WALLS IN AT THIRD FLOOR TO
ACCOUNT FOR DIFFERENCE IN THICKNESS OF
DIAGONAL BOARD SHEATHING

2X PLATE AT JOIST
BEARING - TYP

SHIM AS NEEDED

2X6 FRAMING AT 16" O.C.
TO TOP OF DOUBLE
WALL PLATE AT FRAMED
WALL BELOW -
ATTACHED TO SIDE OF
FLOOR JOISTS AT INSIDE
OF FULL HEIGHT LSL RIM

W8 BEAM - SEE PLAN FOR
SIZE(2) 3/4"Ø A325 BOLTS IN

13/16" Ø HOLES @ W8
CONNECTION - TYP UNO

DOUBLE 2X AT RAILING ATTACHMENT
W/ L90 BRACKETS AT EACH SIDE TO TOP
PLATE - TYP

(5) 16D ATTACHMENT
OF 2X6 TO JOISTS AT TOP
& BOTTOM - TYP

SECTION 3/4"=1'-0
P

S2.2

TAPERED SLEEPERS @ 12" OC

DECKING - SEE ARCH

SLOPED 1'-8" JOISTS AT
16" O.C. - SEE PLAN

DECKING - SEE ARCH

2X6 VERT AT JOIST - TO
ATTACHMENT OF BRACKET FRAME

2X4 HOR AT TOP AND BOT
CORD - ATTACHED TO 2X6
SUPPORTS & CORDS

2X4 DIAGONAL BRACE AT
HOR BRACKET FRAME

5/8" OSB OVER 2" RIGID OVER

1/2" SHEATHING OVER
SLOPED JOISTS

4"Ø SCHEDULE 80 GALV PIPE
W/ 1/2" CAP PLATE

1
'-
0
" 

M
IN

8X8 P.T. POST AT ROOF DECK
TO TRELLIS (8) LOCATIONS
- EPOXY SET TO 4"Ø PIPE
SUPPORT

(2) 1/2"Ø PIPE BRACKETS
W/ 2" WASHERS -
ATTACHMENT TO HOR
FRAME MEMBERS

BOOT SEAL AT PIPE
PENETRATION
- SEE ARCH

9-1/2" LVL FLAT AT
PLYWOOD - THRU HOLE
TIGHT TO 4" PIPE
SUPPORT

2X FRAMING AT 16" O.C.
ATTACHED AT 2X
BLOCKING IN ROOF
SHEATHING BELOW

2X6 P.T. AT EACH SIDE OF
POSTS - TYP

(2) 5/8" GALV CARRIAGE THRU
BOLTS AT EACH CONN - TYP

1" T&G BOARDS

2'-6"10"

3X4 TACK ON RAFTER
TAILS SPACED EVENLY
@ 24" O.C. MAX

FASCIA - SEE ARCH

2x6 @ 16

2x8 @
 16

SECTION 3/4"=1'-0
Q

S2.2

3/4" PLYWOOD - SEE
GENERAL NOTES

HEADER - SEE PLAN

2X LEDGER ATTACHED

W/ (3) SDS @ 12" O.C.

L70 AT EACH SIDE - TYP

LU26 HANGER - TYP

2X8 BLOCKING - TYP

A
S 

N
O

TE
D

SH
ER

ID
A

N
ST

R
EE

T

D
at

e:
Sc

al
e:

R
ev

is
io

ns
:

SH
ER

ID
A

N
 S

TR
EE

T
PO

R
TL

A
N

D
, M

A
IN

E

48
 U

ni
on

 W
ha

rf
   

Po
rtl

an
d,

 M
ai

ne
 0

41
01

(2
07

) 7
72

-6
02

2 
   

Fa
x 

(2
07

) 7
72

-4
05

6

10
 M

ar
ch

 2
01

4




